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1. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) : In recent y e a r s , I n d i a

experience a decline of work participation

in agriculture.

Reason (r) : Productivity of land has decline

in India.

(A) Both (a) and (r) are true but (r) is

correct explanation of (a)

(B) Both (a) and (r) are true and (r) is

not correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a) is false, but (r) is true

2. The famous book ‘Patterns of Culture’ is

authored by :

(A) L. Mair

(B) M. Mead

(C) R. Benedict

(D) F. Boas

3. Who has not focused on the agrarian class

structure?

(A) A. Beteille

(B) A.R. Desai

(C) Ramakrishna Mukherjee

(D) A.K. Saran

4. In which year the Protection of Women from

Domestic Violence Act was enacted?

(A) 2005

(B) 2006

(C) 2007

(D) 2008

5. D.P. Mukherji has used _________

perspective for analyzing Indian society.

(A) Weberian

(B) Functional

(C) Marxian

(D) Interactional

6. Who among the following discussed one

facet of peasantry as - “The underdog

position, the domination of peasantry by

outsiders” ?

(A) T. Shanin

(B) E.R. Wolf

(C) V.I. Lenin

(D) Karl  Marx
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7. Match List-I and List-II and select the

correct answer from the codes given

below:

List-I (Scholars )

P. P. L. Berger

Q. P. Bourdieu

R. M. Castells

S. E. Goffman

List-II (  Works  )

1. Invitation to sociology

2. The power of identity

3. Interaction ritual

4. An  invitation to reflexive sociology

Codes:

   P         Q          R          S

(A)         1          2           3          4

(B)         2          3           1          4

(C)         2          3            4          1

(D)         1         4            2           3

8. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) : There has been an increasing

trend of urban rural migration among the

educated youth.

Reason (r) : There has been increasing

occupational diversification in rural India.

(A) Both (a) and (r) are true and r is

correct explanation of (a)

(B) Both (a) and (r) are true but (r) is not

correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a ) is false, but (r) is true

9. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) : Domestic violence,

especially violence against women has

remained a burning issue in society in India.

Reason (r) : Most societies in India has

 remained patriarchal.

(A) Both (a) and (r) are true and

(r) is correct explanation of

 (a)

(B) Both (a) and (r) are true but

(r) is not correct explanation

of (a)

(C) (a) is true, but (r) is false

(D) (a) is false, but (r) is true

10. The authority of mother’s brother over sister’s

children is called :

(A) Teknonmy

(B) Avanculate

(C) Amitate

(D) Couvade

11. Who among the following relates the

exercise of power with discourse by

highlighting that relation of power cannot

themselves be established, consolidated

nor implemented without the production,

accumulation, circulation and functioning of

a discourse?

(A )A. Giddens

(B) M. Castells

(C) M. Foucault

(D) R. Dahrendorf
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12. Which one of the following are essential

features of urbanisation?

(A) High rate of economic growth, high

rise building, sexual division of

labour

(B) Migration, high rate of population

concentration, predominance of

non-agricultural occupation and

availabili ty of urban amenities

(C) High rate of economic g r o w t h ,

high rate of literacy, availability of

health care facilities.

(D) Urban administration, food security

for the migrants, declining work

participation for women.

13. Which one of the following is not an aspect

of ethnographic research?

(A) Use of field work

(B) Use of interview

(C) Use of questionnaire

(D) Use of participant observation

14. Which one of the theoretical prescriptive

asserts that the age of grand narrative and

meta narrative has come to an end and that

there is no general notion of progress that

can be defended?

(A) Modernist

(B) Critical Marxist

(C) Post modernist

(D) Orientalist

15. The metaphor used to Karl Marx in

describing the nature of capitalism that reflect

reality in an inverted manner is :

(A) Camarea Obscura

(B) Panoptical

(C) Mirror Image

(D) Microscopic

16. Talcott Parsons proposed which one of

the five dichotomies of patterns variables?

1. Affectivity vs Affective neutrality

2. Self-orientation vs collective

orientation

3. Particularism vs universalism

4. Collectivism vs individualism

5. Quality vs performances

6. Diffusiveness  vs specificity

7. Continuity  vs stability

Choose the correct answer :

(A)   1,  2,  3,  4, 5

(B)   1,  2, 3,  5, 6

(C)   2, 3,  4,  6, 7

(D)   4 , 5, 6, 7,  2

17. The first systematic attempt to differentiate

the classes within peasantry came from

which scholar?

(A) A.L. Kroeber

(B) T. Shanin

(C) Karl Marx

(D) V.I. Lenin
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18. Select the correct statement on culture

and civilisation :

(A) Both civilisation and culture are

unitary.

(B) Both civilization and culture are

non-homologous.

(C) Civilisation is unitary while culture

is unique and non homologous.

(D) Civilisation is homologous and

unique while culture is unitary,

19. Who among the following had done the

work - The Agrarian Question (1899)?

(A) A.L. Kroeber

(B) R. Redfield

(C) Karl Marx

(D) K. Kautsky

20. The Bharatiya Kisan Union movement was

mainly associated with which region?

(A) South Karnataka

(B) Vidarbha

(C) Western U.P.

(D) South Bihar

21. Given below are two statements, one

labelled as Assertion (a) and the other

 labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) : Women’s political

participation at  the grass roots has

phenomenally increased in India since early

1980’s.

Reason (r) : The 73rd constitutional

amendment has mandated for 1/3 reservation

for women in the local statutory bodies.

(A) Both (a) and (r) are true but (r) is

correct explanation of (a)

(B) Both (a) and (r) are true but (r) is not

correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a) isfalse, but (r) is true

22. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) :Available statistics show that

India has  a lower level of juvenile

delinquency than the western world.

Reason (r) : Family system in India still play

an important role in socialisation and social

control.

(A) Both (a) and (r) are true but (r) is

correct explanation of (a)

(B) Both (a) and (r) are true but (r) is

not correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a) is false, but (r) is true
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23. Who was appointed as the chairman of

National Dairy Development Board at

Anand?

(A) Sanjay Joshi

(B) H. Khurrana

(C) M.S. Swaminathan

(D) Verghese Kurien

24. H.S. Becker is associated with :

(A) Labelling theory

(B) Differential theory

(C) Systematic theory

(D) Equilibrium theory

25. In Tebhaga movement, sharecroppers

demanded to retain how much share of the

produce for themselves and thereby to

reduce the rent they paid to jotedars ?

(A) One-third

(B) Two-third

(C) One-fourth

(D) Three-fourth

26. According to Mannheim, _____________ is

the study of social basis of ideologies or

 system of false belief.

(A) Sociology of Knowledge

(B) Sociology of self

(C) Sociology of alienation

(D) Sociology of consciousness

27. B.R. Ambedkar has given the trio-mantra of

‘Education, Organize and __________’

(A) Dignity

(B) Agitate

(C) Sacrifice

(D) Confident

28. 'The Structure of Scientific Revolution' was

 written by :

(A) T.S. Kuhn

(B) Kluckohn

(C) O. Spencer

(D) Ernest Nagel
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29. “The Peoples’ Choice” a study carried out

by Paul Lazarsfeld and others (1948) is an

example of which research?

(A) Experimental research

(B) Ethnographic research

(C) Historical research

(D) Survey research

30. Immanuel Wallerstein’s World System theory

does not include which of the following

economic zone?

(A)  Core

(B)  Marginal

(C)  Periphery

(D)  Semi-periphery

31. Who argued that society is composed of a

number of units that are called ‘imperatively

coordinated associations?

(A)  C.W. Mills

(B)  A.G. Frank

(C)  S.F. Nadel

(D)  R. Dahrendorf

32. Which dimension of formal rationality was

not discussed by Ritzer in the

McDonaldization of society?

(A)  Predictability

(B)  Efficiency

(C)  Liberation

(D)  Control through non-human

33. What tendency was not emphasized by

C. Bougle in the definition of Caste?

(A)  Hierarchy

(B)  Exploitation

(C)  Hereditary Specialization

(D)  Repulsion

34. Who among the following is associated

 with the “Differential Scale” measurement ?

(A)  L. L. Thurstone

(B)  Louis Guttman

(C) Spearman

(D)  J. Likert



Total Number of Pages : 24

Paper-II   9 37-A

35. Who is associated with the coefficient of

 correlation?

(A)  Karl Mannheim

(B)  Karl Popper

(C)  Karl Pearson

(D)  Karl Polyani

36. “Caste and Kinship in Central India: A Village

and its Region (1960)” is a famous work by

whom?

(A)  McKim Marriott

(B)  I. Karve

(C)  A.C. Mayer

(D)  J.H. Hutton

37. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) : According to National

Crime Bureau 2022 report, crime against the

senior citizens has significally increased in

urban India.

Reason (r) : Joint family system has

declined in urban areas and  individualism

has emerged to be the order of the day.

(A) Both (a) and (r) are true and (r) is

correct explanation of (a)

(B) Both (a) and (r) are true but (r) is

not correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a) is false, but (r) is true

38. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) : Most countries endeavours

 adhere to the sustainable development

perspective that arms to ensure

development without compromising with the

need of the future generation.

Reason (r) : Climate change has become

an inevitable global phenomenon.

(A) Both (a) and (r) are true and (r) is

correct explanation of (a)

(B) Both (a) and (r) are true but (r) is not

correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a) is false, but (r) is true

39. Arrange the following Sociological

perspectives in terms of their

advancement :

I. Structuration

II. Functionalism

III. Symbolic Interactionism

IV. Evolutionary

Choose the correct answer :

(A)  II, I, III, IV

(B) IV, II, III, I

(C)  II, IV, I, III

(D)  IV, III, I, II
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40. Which among the following traditions in India

was not classified and discussed by S.C.

 Dube in the “Study of Complex Cultures”?

(A) Classical tradition

(B) Western tradition

(C) Emergent national tradition

(D) Innovative tradition

41. Annihilation of class enemies was a motto

 of which Peasant movement?

(A) Moplah movement

(B) Champaran movement

(C) Bardoli movement

(D) Naxalbari movement

42. Giddens did not discuss which basic

 institution for defining modernity?

(A) Military power

(B) Socialism

(C) Capitalism

(D) Industrialism

43. The report in 1987 by the United Nations,

 “Our Common Future” is also known by

 which name?

(A) Club of Rome Committee

(B) Kyoto Protocol

(C) Monsanto Commission

(D) Brundtland Commission

44. Who has referred to ‘environmental

citizenship’ in 2006 as a type of citizenship

linked to the defence of the national

environment?

(A) P.N. Dunlap

(B) Beck and Mol

(C) Dobson and Bell

(D) Dickens and Mol

45. Who said that the megacities functions as

magnet for the countries in which they are

located?

(A) Saskia Sassen

(B) Manuel Castells

(C) David Harvey

(D) Mike Savage
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46. Feminist writer, S. Firestone comes under

which approach of feminism?

(A) Socialist

(B) Liberal

(C) Postmodern

(D) Radical

47. Which scholar associates modern mass

media with hyper reality?

(A) Z. Bauman

(B) J.F. Lyotard

(C) M. Castells

(D) J. Baudrillard

48. Neil Smelser is associated with which theory

of social movement?

(A) Structural - strain

(B) Symbolic politics

(C) Resource - deficit

(D) Symbolic- rejection

49. The method of ‘sociometry’ was first used

by :

(A) M. Weber

(B) Lipset

(C) Bendix

(D) G. Moreno

50. When in a kinship system, special role and

authority is given to father’s sister, the usage

is called :

(A) Avnculate

(B Amitate

(C) Couvade

(D) Avoidance

51. The disjunction between status and class

position of individual and group as ‘status

crystallization’ was given by :

(A) R. Linton

(B) G. Lenski

(C) Max Weber

(D) R.K. Merton



Total Number of Pages : 24

Paper-II   12 37-A

52. The two main school of law in the matter of

inheritance are - ‘Dayabhaga’ and _______.

(A) Mayabhaga

(B) Pitakshara

(C) Satyabhaga

(D) Mitakshara

53. The proponent of ‘Satya Shodhak Samaj’

was :

(A) B.R. Ambedkar

(B) Jyotiba Phule

(C) E. Periyar

(D) V. Bhave

54. In a sample if nth case is selected as a

sample is called as ________sampling.

(A) Stratified

(B) Cluster

(C) Area

(D) Systematic

55. According to Yogendra Singh, the four

characteristics of Indian society are -

Hierarchy, Holism, Continuity and_______.

(A) Change

(B) Conflict

(C) Transcendence

(D) Calmness

56. Who among the following had examined the

cases of three movements, in the work “The

Power of Identity” (1997) having dissimilar

concerns and objectives?

(A)  Manuel Castells

(B)  Craig Calhoun

(C) Herbert Blumer

(D) Alberto Melucci

57. Computer programme that allows quantitative

data to be analyzed is :

(A) CPR

(B) SPRA

(C) SPSS

(D) DAR
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58. A research in which attempt is made to test

a hypothesis under a controlled condition

established by the investigator is known

as :

(A) Experimental research

(B) Historical research

(C) Comparative research

(D) Contemporary research

59. The three models of “Sanskritization” was

first discussed by M.N.Srinivas in his work

_______________ .

(A) Caste: 21st Century Avataar

(B) Indian Villages

(C) Social Change in Modern India

(D) Remembered Villages

60. Which Scholar has emphasized that the

capitalist development in India cannot be

understood without using the historical

method?

(A) Veena Das

(B) S.C. Dube

(C) A.R. Desai

(D) P.K. Bose

61. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

code given below:

Assertion (a) : Economic globalization and

structural adjustment programme has

smother the process of faster economic

growth in India.

Reason (r) : India experience equitable

economic growth for all sections of the

population.

(A) Both (a) and (r) are true and (r) is

correct explanation of (a)

(B) Both (a) and (r) are true but (r) is

not correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a) is false, but (r) is true

62. Arrange the following works on rural

sociology in ascending order:

I. Village India

II. The Remembered India

III.  Ancient Law

IV. The Village in India

Choose the correct answer :

(A)  I, II, IV, III

(B)  II, I, III, IV

(C)  III, I, II, IV

(D)  IV, III, II, I
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63. Select the correct statement on speculative

and grounded theories :

(A) Speculative theory corresponds

to empirical generalisation while a

grounded theory corresponds to

conceptual ordering.

(B) Both the theories correspond to

empirical generalisation

(C) Both the theories correspond to

conceptual ordering

(D) Grounded theories correspond to

empirical generalisation and

speculative theories correspond

to conceptual ordering.

64. Identify the incorrect statement on System

theory in Sociology :

(A) Pareto laid the foundation of system

analysis in sociology.

(B) In system theory society is same

as system of equilibrium.

(C) In system theory all parts are

independent of each other.

(D) In system theory all parts are

interdependent and change in one

part effect the other parts.

65. Who among the following asserted that “if

interaction among man is sociation, conflict

after all one of the most vivid interactions,

which further more possibly cannot be

carried out by one individual alone must

 certainly be considered as sociation” ?

(A) R. Dahrendorf

(B) M. Weber

(C) G. Simmel

(D) K. Marx

66. Match List-I and List-II and select the

correct answer from the codes given

below:

List-I (Author)

P. Theodor Adorno

Q. J. H Goldthorpe and D Lockwood

R. D. Bell

S. Alvin Toffler

List-II (Books)

1 Affluent Worker

2 The Coming of Post Industrial

Society

3 Prism

4 Future Shock

Codes:

             P         Q          R          S

(A) 3          1           2           4

(B) 1          2           3           4

(C) 2          3           4           1

(D) 3          4           1           2
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67. Match List-I and List-II and select the correct

answer from the codes given

below:

List-I (Authors)

P. R.K. Mukherjee

Q. D.N. Dhanagare

R. Andre Betaine

S. T. K. Oommen

List-II (Boooks  )

1. Peasant Movements in Colonial

India

2. Studies in Agrarian Social

Structure

3. Citizenship, Ethnicity and Nationality

4. Dynamics of a Rural Society

Codes:

  P         Q          R          S

(A)         4          1           2           3

(B)         1          2           3           4

(C)         2         1           3            4

(D)         4         2          1            3

68. Who among the following argues that it is

not the consciousness of men that determine

their beings, but on the contrary their social

beings that determine their consciousness?

(A) M. Weber

(B) K. Marx

(C) R. Dahrendorf

(D) G.W. Hegel

69. Chronologically, arrange the Indian thinkers

in Sociology in terms of their initial landmark

publication :

I. Iravati Karve

II. Andre Beteille

III. G.S. Ghurye

IV. Dipankar Gupta

Choose the correct answer :

(A)  III, I, II, IV

(B)  III, IV, I, II

(C)  III, II, IV, I

(D)  I, III, II, IV

70. While understanding the relationship

 between individual and society, who among

the following concluded that man does not

stand alone as an individual and the society

does not exist without individual and there

are indispensable reciprocity between

individual and society ?

(A) G. W. Hegel

(B) C.H. Cooley

(C) J. Dewey

(D) K. Marx
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71. Match List-I and List-II and select the correct

answer from the codes given below:

List-I (Author)

P. Jean Baudrillard

Q. Daniel Bell

R. Benjamin Walter

S. Peter Berger

List-II (Work)

1. The Mirror of Production

2. The End of Ideology

3. One Way Street

4. The Social Construction of Reality

Codes:

 P         Q          R          S

(A)        1          2           3           4

(B)        2          3           4           1

(C)        3         4            1           2

(D)         4        1             2          3

72. Match List-I and List-II and select the correct

answer from the codes given below:

List-I  (Author)

P. Howard Rheingold

Q. Ray Oldenburg

R. Arjun Appadurai

S. Richard Neal

List-II (Concepts)

1. Virtual Communities

2. Global Cultural Flow

3. Digital Sociology

4. Third Place

Codes:

 P          Q          R          S

(A)         1          4           2          3

(B)         1          2           3          4

(C)         2          3           4          1

(D)         3          4           2          1

73. Who among the following is the author of

the book Ideology and Utopia?

(A) G.W. Hegel

(B) K. Marx

(C) Karl Mannheim

(D) E. Husserl

74. According to 2011 censes majority of

Indian’s workforce is employed in :

(A) Agricultural

(B) Industry

(C) Service sector

(D) Equally employed in all sector

75. Arrange the following works on gender in

an ascending order:

I. Gender Trouble

II. Psychoanalysis and Feminism

III. The Second Sex

IV. Revolution in Poetic Language

Choose the correct answer :

(A)  II, IV, III, I

(B)  III, I, IV, II

(C)  IV, II, I, III

(D)  I, III, IV, II
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76. Arrange the following works in the

chronological ascending order:

I. The Culture Industry

II. Culture as Praxis

III. Mind, Self and Society

IV. The Field of Cultural Production

Choose the correct answer :

(A) III, IV, I, II

(B) III, I, II, IV

(C) III, II, I, IV

(D) III, II, IV, I

77. Who among the following gave the thesis

of the ‘’one dimensional society’ in which

individual’s suffer from surplus-

repression?

(A) T. Adorno

(B) H. Marcuse

(C)  A. Giddens

(D) M. Foucault

78. Select the correct statement with regard to

Durkheim’s Idea of Solidarity :

(A) Mechanical solidarity is expressed

through differentiation

(B) Organic solidarity expressed

through resemblance

(C) Mechanical solidarity expressed

through resemblance

(D) In organic solidarity all

individual express same

emotion and value

79. Which one of the following is not an action

according to Max Weber’s Typology?

(A) Zweckrational action in relation to goal

(B) Wertrational action in relation to value

(C) Affective or emotional action

(D) Individual action/motivated action

80. In which one of the following works Marx

and Engels delineated the historical phases

of progression of society based on modes

of production ?

(A) The Capital

(B) German Ideology

(C) Communist Manifesto

(D) Poverty of Philosophy
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81. Arrange the following concepts/theories in

the ascending order:

I. Neofunctionalism

II. The Transformation of Intimacy

III. AGIL paradigm

IV. Suicide

Choose the correct answer :

(A)  IV, III, I, II

(B)  III, IV, II, I

(C)  II, III, I, IV

(D)  III, IV, I, II

82. Marx’s analysis of social conflict in the

capitalist society can be arranged from

inception as follows:

I. Pauperization

II. Class antagonism

III. The importance of property

IV. Inauguration of the communist

society

Choose the correct answer :

(A)  II, I, III, IV

(B)  III, I, II, IV

(C)  IV, III, I, II

(D)  III, I, IV, II

83. 'Six Essays in Comparative Sociology' was

 written by :

(A) M.N. Srinivas

(B) Andre Beteille

(C) T.N. Madan

(D) P.N. Mukherji

84. The famous book 'The Golden Bough' is

written by :

(A) A. R. Radcliffe – Brown

(B) B. Malinowski

(C) J.G . Frazer

(D) F. Boas

85. Which is not a postulate of functional analysis

as given by Merton ?

(A) Functional unity of society

(B) Universal functionalism

(C) Indispensability

(D) Harmonious unity
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86. The objectives of research may

 not be :

(A) Exploratory

(B) Adventurous

(C) Descriptive

(D) Diagnostic

87. First step for research is :

(A) Identify research solution

(B) Develop interview

(C) Identify research problem

(D) Identify the respondents

88. Who stated that social conflict works as a

safety valve :

(A) Karl Marx

(B) Lewis Coser

(C) T. Veblen

(D) R. Dahrendorf

89. According to E. Durkheim Sociology

consists of three principal division, these

are:

(A) Social biology, social physics and

general sociology

(B) Social morphology, social

physiology and general sociology

(C) Social morphology, social

physiology and social psychology

(D) Social anomie, social psychology

and social physiology

90. Given below are two statements, one

labelled as Assertion (a) and the other

labelled as Reason (r). Read the statements

and choose the correct answer from the

codes given below:

Assertion (a) : India experiences the

increasing phenomenon of cyber-crime.

Reason (r) : In contemporary India the

phenomenon of digital divide has

considerably declined.

(A) Both (a) and (r) are true but (r) is

correct explanation of (a)

(B) Both (a) and (r) are true and (r) is

not correct explanation of (a)

(C) (a) is true, but (r) is false

(D) (a) is false, but (r) is true
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91. Arrange the works of M. Foucault in a

Chronological order :

I. The Archaeology of Knowledge

II. The History of Sexuality

III. The Order of Things

IV. Discipline and Punish

Choose the correct answer :

(A)  III, I, II, IV

(B)  I, IV, II, III

(C)  II, I, IV, III

(D)  IV, II, I, III

92. Andre Beteille has studied a :

(A) Rampur village

(B) Tepzotlan village

(C) Tanjore village

(D) Shamirpeth village

93. Who among the following is the author of

the book, ‘The Dynamic of Culture Change:

An enquiry into the race relation in Africa’?

(A) A.R. Radcliffe-  Brown

(B) B. Malinowski

(C) R. Benedict

(D) C. Levi-Strauss

94. Match List-I and List-II and select the

correct answer from the codes given

below:

List-I (Book)

P. Sociology after the Crisis

Q. Culture and Everyday Life

R. Modernity and Ambivalence

S. Media Culture

List-II (Author)

1. Zygmunt Bauman

2. David Inglis

3. Charles Lemert

4. Douglas Kellner

Codes:

   P         Q          R          S

 (A)         3          2           1           4

 (B)         2          1           4           3

 (C)         1          4           3           2

 (D)         4          3           2           1

95. Match List-I and List-II and select the

 correct answer from the codes given below:

List-I (Thinker)

P. Fredric Jameson

Q. Edward Said

R. Daniel Bell

S. Homi K. Bhabha

List-II (Works )

1. The Location of Culture

2. The Political Unconsciousness

3. Out of Place

4. Cyberculture: The Key Concepts

Codes:

    P         Q          R          S

  (A)         2          3          4           1

  (B)         3          4          1           2

  (C)         4          1          2           3

  (D)         1          2          3           4
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Read the paragraph carefully and answer

the question Nos. 96 to 100 given below:

……. Our aspects of economics describe

the general phases of the process;

production, exchange and consumption. In

concrete reality we would find, however, that

production may consist of agriculture, cattle

herding or industry. Agriculture at times is

carried-on, on the basis of the family, in

which case this institution is also the

productive agricultural unit. More frequently

we find that the tilling of the soil mobilizes a

special team of people, under the

leadership of the chief, the local headman

or perhaps the man who carries out garden

magic. Such a team again is an institution in

that it works under the charter of land tenure;

of exchange of services; and the

apportionment of the crops, including tribute

to chief, headman or magician. The group

who jointly till the soil are also the owners of

the territory, which may be individually held

under joint control. In the administration of

justice, we may have, as already elaborated,

a more or less crystallized system of

guardians and wielders of customary law or

else the knowledge of the rules and their

administration may fall within the preview of

groups organized on other principles.

Disputes about land or produce are usually

settled within the agricultural team, the leader

and his assistant acting as the impartial

authority. Domestic quarrels seldom go

beyond the authority of the patriarch or

matriarch within the household.

96. The economic aspect of society involves

the process of :

(A) Production, distribution, profit

making,reinvestment

(B) Production, exchange and

            consumption.

(C)          Production,distribution,reinvestment

           and marketing.

(D)         Production, marketing, consumption

           and book keeping.

97.       Production in concrete reality consists of :

(A) Primary, secondary and tertiary

activities

(B) Agriculture, cattle herding or

industry.

(C)       Agriculture, industry or service

(D)    Agriculture, mining and animal

husbandry.

98. Domestic quarrels are settled by the :

(A) Village chief

(B) Agricultural team

(C) Outside authority

(D) Patriarch or matriarch of household.

99. Which one of the following is not correct

about dispute over land or produces ?

These disputes are settled  within the

purview of  :

(A)        Outside authority

(B) Involvement of agricultural

team.

(C)        Leader

(D)       Assistant of the leader

100. Who does not tills the soil/owns the  land ?

(A) Family household

(B) Leader and his assistant solely

(C) Team of people

(D) Paid workers
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